Algebra 1 9.5
Use the quadratic formula to solve equations
Use the discriminant to determine the number and type of roots

quadratic
standard form A=
_> discriminant b’; 4 a C 2=0
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KeyConcept The Quadratic Formula

The solutions of a quadratic equation ax? + bx + ¢ = 0,
where a # 0, are given by the Quadratic Formula.
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What are some methods of solving?

1. raoh
2 Jutle
Q ar

SEP



Practice Xz -bl \j LE Yac

Solve each equation. - 2 -
3A. 2x? —17x + 8 =10 3B. 4x? —4x—11=0

—

4. K= _sz F7antlS ( I%Q

0_7_;.._01.“ "‘_7 ?_V\“:,S
05 02
"'_"_---_—CD:"OZ_H‘!'L7 a3
< -0 b- 7.2 3
u
-;__ -72‘1 2077 - ‘/‘0-2 13 _7Z+ 5’844‘"
o -D.2 “Oq
~ +
< =73t \saeg . TAz=3
_.-—-'——_0‘1{;\4_\' _an /
990 ~T3¢+73 -
+3.4 = q. - _E 85
Av Ak ==y S 3 = 3609

._o.



AT RS,

% KeyConcept Using the Discriminant
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State the value of the discriminant of\4x? + 5x = —3./Then determine the

number of real solutions of the equation. 3
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